P-5

GENERAL APTITUDE TEST FOR BHMCT/BFAD

TCITAHIE/STETE T AT TR uRtaor

Select the related number from the
given alternatives

25:125::36: ?
(A) 180 (B) 206
(C) 216 (D) 318

The paint of which colour is used on
the top of the milestones on the national
highways
(A) Yellow
(C) Red

(B) Green
(D) Magenta

Class A has students twice that of class
B. After adding 20 students to class A
and 30 students to class B, the total
number of students in both the classes
is 140. What was the number of
students in class A in the beginning ?

(A) 30 (B) 60
(C) 80 (D) 140

Find the missing number

7 8 6
4 9 5
3 2 2
25 70 29
(A) 9 (B) 8
©) 1 (D) 5

When a body is exposed to sunlight, it
gets heated up because the sunlight
consists of

(A) X-rays

(B) UV rays
(C) IRrays

(D) Visible rays

1. g 7 foeai B ¥ Gatad G & 99
-
25:125::36: ?
(A) 180 (B) 206
(C) 216 (D) 318
2. U TSTENT W HieT & Ui o 99 T
foha 1 o1 e oA ST € 2
(A) e (B) &
(C) et (D) ST
3. RIATRTBITHIAE | T AH
20 BT 3 F=T B # 30 ST WA HH
&% 1% SHT T 6 BT D FoA G 140
TS § | I H R A H ST o G
fepert oft 2
(A) 30 (B) 60
(C) 80 (D) 140
4. W G T B
7 8 6
4 9 5
3 2 ?
25 70 29
(A) 9 (B) 8
©€) 1 (D) 5
5. 49 H YRR B 3G B W g T &
ST € i g | Bl &
(A) X-feot
(B) UV Ty
(C) IR fermi
(D) ¥ fepeel



10.

11.

A rectangular garden is 100 m x 80 m.
There is a path along the garden and
just outside it. Width of the path is
10 m. The area of the path is

(A) 1900sgm  (B) 2400sgm
(C) 3660sgm (D) 4000sgm

The place of origin of Gomti river is
located in

(A) Lucknow
(C) Ranikhet

(B) Pilibhit
(D) Tanakpur

Which of the following fibers is man
made ?

(A) Silk
(C) Nylon

(B) Cotton
(D) Linen

What is the name of the city of 1000
temples ?

(A) Rameswaram
(B) Varanasi
(C) Kanchipuram

(D) Madurai

Which of the following is not a
fermented food ?

(A) Curd (B) Pickle

(C) Jam (D) Idli

One of the angles of a triangle is equal
to the sum of other two angles. If the
ratio of the other two angles is 4 : 5,
then the angles of A are

(A) 90°,40°, 50°
(B) 15° 60°, 105°
(C) 30°,60°, 90°
(D) 30°, 40°, 110°

10.

11.

T AAEHL T 100 M x 80 M &1 & | 39
AT % T M g3 TH IR & | T TR B
R 10 M | ST T H SR TR & 2

(A) 1900sgm  (B)
(C) 3660sgm

2400 sq m
(D) 4000sgm

AT ST T ST e Fel W ?

(A) T&ETS (B) dicinda

(C) e (D) T
F=iteRd § o= 91 190 g AEg & 2
(A) wH (B)

(C) et (D) fora

1000 TR} et 316 1 AT F7 & ?

(A) TETRT

(B) @

(C) ==

(D) =3

rifehe & @ i T Toh{verd @rer el & ?
(A) & (B) TR

(C) =m (D) secft

fohelt PIe{sT T Uk I0T 31T ]F IO & FAT
F WER & | AR I 3 HOT F S
4:58, AWAFHUE

(A) 90°, 40°, 50°
(B) 15°, 60°, 105°
(C) 30° 60°, 90°
(D) 30°, 40°, 110°
P-5
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13.

14.

15.

16.

17.
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Which tree releases oxygen even during
the night ?

(A) Ashoka
(C) Amla

(B) Peepal
(D) Mango

Atul and Babita enter into a business
partnership in which Atul contributes
T 2000 for nine months and Babita
contributes ¥ 5000 for seven months. A
profit of ¥ 1100 will be divided
between Atul and Babita in the ratio of

(A) 6:11 (B) 2:5
(C) 7:9 (D) 18:35

The major constituent of Amla fruit is
(A) Mineral (B) VitaminC
(C) VitaminA (D) VitaminD

Nalli is famous because it is

(A) A brand for women’s wear
(B) A picnic spot

(C) Anaquarium

(D) A form of dance

The ratio of the numbers of boys and
girls of a school having 504 total
students is 13 : 11. What will be the
new ratio of boys and girls if 12 more
girls are admitted in the school ?

(A) 91:81 (B) 81:91
(C) 9:10 (D) 10:9

39 persons can repair a road in 12 days,
working 5 hours a day. In how many
days will 30 persons, working 6 hours a
day, complete the work ?

(A) 10 (B) 13
(C) 14 (D) 15

12.

13.

14.

15.

16.

17.

TE DA T UT T SN AT H oA SR
Bl €2

(A) TTH
(C) afaeT

(B) diuct
(D) =™
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fetw et & 1 ¥ 1100 1 oMY I I
Tt § fore 31T | faiiord g 2

(A) 6:11 (B) 2:5

(€ 7:9 (D) 18:35

3TTEAT Hel 1 A T2 T ¢ ?
(A) @S (B) faai= C
(C) faarm= A (D) fo=am= D

o AT 9E § ?

(A) HfeeT IREH I T e
(B) T &It

(C) wT=el W

(D) T =l T fee
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Ud AfcteRta W & eI 13:11
T 1 3% 12 3iY aferens femerd & vy
Wl &l St SR STt H A
ST T &1 2
(A) 91:81

(© 9:10

(B) 81:91
(D) 10:9

U feF 0 5 €9 &Y wh 39 AR TH
Tgh &l TT 12 67 § X 9ol © | A
30 =afer, fo ° 6 6 1 &Yl 98 B
fohae fom1 ® wRT &I ?
(A) 10
(C) 14

(B) 13
(D) 15



18.

19.

20.

21.

22.

23.

Find the odd one out from 10, 25, 45,
54, 60, 75, 80

(A) 10
(C) 54

(B) 45
(D) 75

Detergent worth ¥ 126 per kg and ¥ 135
per kg are mixed with a third variety in
the ratio 1 : 1 : 2. If the mixture is
worth ¥ 153 per kg, the price of the
third variety per kg will be:

(A) T16950  (B) 170
(C) 17550 (D) %180

Van Heusen is a famous
(A) A magician

(B) A Dutch Painter

(C) A brand for clothing
(D) An evergreen tree

Ifx+y=7and 3x -2y =11, then
(A) x=5,y=2
(B) x=2,y=5
(C) x=5,y=5
(D) x=0,y=3

Find out the set of numbers which is
most like the set :

(8, 56, 72)

(A) (7,56, 63)
(B) (3,15, 24)
(C) (6,42, 54)
(D) (5, 30, 35)

Garry Sobers is a famous
(A) Cricketer

(B) Boxer

(C) Wrestler

(D) Shooter

18.

19.
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10, 25, 45, 54, 60, 75, 80 § ¥ fauw 34
F¥

(A) 10
(C) 54

(B) 45
(D) 75

% 126 ¥ Tt @ ¥ 135 Wid fohett amet
fecoe i am R §1:1:2%
U | e sar € 1 3k @t
% 153 Wi forett 1 &1, o Rl fome
oo Ufq Tt feaam & 2

(A) T16950  (B) %170

(C) ¥17550 (D) %180

TAEATEAEE T |
(A) STER

(B) TAUX

(C) Uy =t i

(D) WTEEER UT

AT x+y=7 AR 3x -2y = 11, &
(A) x=5y=2
(B) x=2,y=5
(C) x=5,y=5
(D) x=0,y=3

T3 & 3T WS HT YT L ST A
(8,56, 72) S@T & & :

(A) (7,56, 63)

(B) (3,15, 24)

(C) (6,42,54)

(D) (5, 30, 35)

WA THeE T
(A) T
(B) s
(C) ugeta™

(D) =X
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Dronacharya award is presented by
Indian Government for excellence in

(A) Acaedemia

(B) Archery

(C) Sports coaching
(D) Bravery

River Ganges meets river Yamuna at
(A) Kanpur

(B) Allahabad

(C) Varanasi

(D) Agra

As per the 2011 Census, the State with
the largest gap in male and female
literacy is

(A) Uttar Pradesh

(B) Madhya Pradesh

(C) Rajasthan

(D) Kerala

Which one is regarded as “World
Heritage Forest” ?

(A) Nandankanan, Odisha
(B) Kaziranga, Assam
(C) Sundarbans, West Bengal

(D) Acharya Jagadish Chandra Bose
Indian Botanic Garden, Shibpur,
Howrah

Upper house of the Parliament is also
called as

(A) Lok Sabha

(B) Rajya Sabha

(C) Vidhan Parishad
(D) Lok Parishad

Fermentation is characterized as a
(A) Physical process

(B) Chemical process

(C) Physico-chemical process
(D) Biological process

24,

25.

26.
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IRA WHR FRI F0MER R HaH
S & feTw fea e & 2

(A) e Sfee

(B) dREmI

(C) WA HifarT

(D) =g

T A AT A W R ferd & 2
(A) FFR

(B) 3oTEETR

(C) @

(D) e
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(A) WU

(B) T WY

(C) rere

(D) e

“Fergel eRieT a1 fohdl el ST € 2
(A) =T, ST
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(D) Sifere wfskan



30.

31.

32.

33.

34.

Which of the following statements
about Amir Khusrau are correct ?

1.  He was the disciple of Sufi Saint
Sheikh Nizamuddin Aulia.

2. He was the court poet of
Jalaluddin Khilji.

3.  He introduced the musical
instrument sitar by combining the
old Indian vina and the Iranian
tambura.

4.  He introduced the khayal form of
singing.

(A) 1,2,3and4 (B) land4
(C) 1,3and4 (D) 2,3and4

Saina Nehwal is a famous
(A) Badminton player
(B) Weight lifter

(C) Cricketer

(D) Runner

\J0.9is

(A) 0.95

(B) 0.3

(C) 0.03

(D) None of the above

The oldest mountain range in India
according to geographical history are

(A) Satpuras
(B) Nilgiris
(C) Vindhyas
(D) Aravallis

Which State has smallest land area ?
(A) Goa (B) Nagaland
(C) Sikkim (D) Tripura
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31.
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34.

IR G % a1 | DI F FHUT Tl &2

1. o gw 9d 9 FemEE eiferar &
R o |

2. o SR fEers % ERt Ha o |

3. 3RIF WEH YRR S 9 [ day
% FASE ¥ T U fgar
ST T |

4. 3R TS H @A Al B I

o |
(A) 1,2,331R4 (B) 134
(C) 1,334 (D) 2,334

T EA TEH AT ¥
(A) efie fgere!

(B) RIieT

(C) fhhex

(D)  erferhr

\J0.9%

(A) 0.95

(B) 0.3

(C) 0.03

(D) SWie ¥ | g Tél

HiiTeTeh SiceTd & AR TR hl Ty
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(A) wdgeT

(B) et
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(D) REeH

T T T -8 Wl HH € 2

(A) T (B) TrTeis

(C) faferrm (D) Frga
P-5
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In the decreasing order of the length of
the river, the correct sequence is

(A) Brahmaputra > Ganga > Godawri
> Narmada

(B) Ganga > Godawri > Brahmaputra
> Narmada

(C) Brahmaputra >
Godawri > Ganga

(D) Ganga > Brahmaputra > Godawri
> Narmada

Narmada >

The smallest number by which 675 be
multiplied so that the product is a
perfect cube

(A) 3
(C) 40

(B) 5
(D) 125

Who is authorized to decide over a
dispute regarding disqualification of a
Member of Parliament ?

(A) Election Commissioner

(B) Speaker of Lok Sabha

(C) President

(D) A Committee set up by Parliament

Who among the following was the first
lady prime minister in the world ?

(A) Golda Meir

(B) Indira Gandhi

(C) Mary Eugenia Charles
(D) Sirimavo Bandaranaike

Arjuna award is given for
(A) Bravery on battlefield

(B) Outstanding
sports

(C) Exceptional service in emergency

(D) Exceptional
dwellers

performance in

service of slum

35.

36.

37.

38.
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AfedT S TaE % Hed HH W WEl ST
FE?

(A) T > T > TRERT > THaT

(B) T > TTER > SR > THRT

(C) S&TIH > FHRT > TR > T

(D) T > SR > TMETert > AT

o€ G DIl 9 i 9 & g 675 9
O R T O U7 5T & 2
(A) 3 (B) 5
(C) 40 (D) 125

TG G I AT & 9] ° foarg g
T I 07T T Fehel & 2

(A) T ATHT
(B) Aich T 37emeT
(C) regufd

(D) ¥UT gRI Tfed Wi

T 9 foea ol Tect! Afeet TEH H3 S o ?
(A) Tieer B

(B) 3f=wr el

(C) Rt T =Ty

(D) faREmEr YerA=EH

3T R FRAfer fear S € 2
(A) 7% ¥ R

(B) Bl 7 I vRYH

(C) STUTdehTeT § STETRUT HaT

(D) dfew afeqar &  Fartaar @l
STHTYROT Hall
(m]



40.

41.

42.

43.

44,

45,

46.

A.R. Rahman received the Oscar award
for the film

(A) Slumdog Millionaire
(B) Barfi

(C) Gandhi

(D) Rockstar

The minimum age required to become a
member of Rajya Sabha is

(A) 21 years (B) 40 years
(C) 30years (D) 45 years

Which of the following is
associated with the UN ?

(A) ILO (B) WHO
(C) ASEAN (D) UNIDO

not

Which of the following is the largest
fraction ?

(A) 6/7
(C) 5/6

(B) 4/5
(D) 7/8

The word *accolade’ means

(A) Strong praise

(B) Approval

(C) Special acknowledgement
(D) Allthe above

Taka is the currency of
(A) Bangladesh (B) Indonesia
(C) Nepal (D) Sri Lanka

A person gave 20% of his income to his
elder son, 30% of the remaining to his
younger son and 10% of the balance he
donated to a trust. He is left with
¥ 10,080. His income was

(A) ¥50,000  (B) % 40,000
(C) 30,000 (D) % 20,000
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T. 3IR. WHH & [Hq hed & faw sieap
R UTe 3T ?

(A) THSH HeAHaX

(B) ®

(C) i

(D) &R

T T G5 a9 o folT =Aae g
ferert & 2

(A) 21a9 (B) 40ad
(C) 309 (D) 459
it 5 | s UN 9 o T8l & ?
(A) ILO (B) WHO
(C) ASEAN (D) UNIDO
friferd § g SEr T H E & ?
(A) 6/7 (B) 4/5

(C) 5/6 (D) 7/8

‘accolade’ 3153 =T 379 /1T & ?
(A) ==

(B) <X

(C) wmre

(D) SWie Tt

T FRl B AET T ?
(A) SRS
(C) =

(B) ZeHRmET
(D) it

Teh A 3 3T 3T o1 20% fe&m 39
o T I, AT BT 30% BIS T B o I H
10% U T& H IF & | I9F U
10,080 s/ | ST 31T fepcHr ot 2

(A) 50,000  (B) % 40,000
(C) %30,000 (D) % 20,000
P-5
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The capital of Goa is
(A) Panaji

(B) Vasco da Gama
(C) Margao

(D) Mapusa

A particle moving with uniform speed
(A) Must have uniform velocity

(B) Cannot have uniform velocity
(C) May have uniform velocity

(D) Will have no velocity

Find the odd one out
(A) Wheat
(C) Barley

(B) Rice
(D) Mustard

Which of the following is the lightest
gas ?

(A) Nitrogen

(B) Oxygen

(C) Ammonia

(D) Carbon dioxide

Which type of mirror is used as a rear
view mirror in cars ?

(A) Concave mirror

(B) Convex mirror

(C) Both concave and convex mirrors
(D) Plain mirror

Which is the correct descending order
of elasticity ?

(A) Rubber > silver > glass
(B) Silver > rubber > steel
(C) Steel > rubber > silver
(D) Steel > silver > rubber

47.

48.
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TS St ST i 1 & 2
(A) Toi

(B) @&t fg T

(C) wa

(D) Hrgar

THTHH T TAA aTeAT HoT
(A) TS THF o ET AT |
(B) U THM ST T &1 Hehell |
(C) UH THM T &l Fehal & |
(D) AT & B |

forem =t we=-T —

(A) T
(C) =i

(B) =@t
(D) W&

freAifeRa o & Ta gl 19 & 9§ 2
(A) e

(B) 3RS

(C) st

(D) A TrE3iIES

FHR H vE 3T U & T T e+
TYUT <1 IYANT fehat T € 2

(A) TEdet 3T
(B) U1 gUTT
(C) 3adet d STt YT ST
(D) T gUur

AT T TeET STERIE! 69 1 § 2
(A) g > TR > HY
(B) dEt>Ee > ©iet
(C) wr > s > =it
(D) ¥t > TRl > WS




53.

54,

55.

56.

S7.

58.

59.

Find the odd one out

(A) Delhi Transport Corporation
(B) Indian Railways

(C) Kingfisher Airlines

(D) Reliance Industries Limited

Distance between earth and stars is
measured in

(A) Kilometres

(B) Light years

(C) Miles

(D) None of the above

Plebiscite means

(A) A decision made by voting
(B) A person womanly in habits
(C) A collector of books

(D) A government by the rich

‘Beating about the bush’ means
(A) Fighting in the bushes

(B) Complaining about someone
(C) Awvoid coming to the point
(D) Give explanation

[(0.5)%)%is
(A) 0.0625 (B) 0.125
(C) 0.0125 (D) 0.625

Find the odd one out
(A) Cyclotron (B) Basic
(C) Pascal (D) Fortran

LAN stands for

(A) Local Area Nodes
(B) Large Area Network
(C) Large Area Nodes

(D) Local Area Network
12

53.

54.

55.

56.

S57.

58.

59.

forre = TR

(A) TEoet uRae g
(B) WRd™ Tord

(C) THITRIR TRee~
(D) R Tegt fames

Teet o ART % S i g B (HEH AT
ST & ?

(A) THeHe

(B) UHT IY

(C) et

(D) SWiwd | H g Tél

STHET — GUE ° T A § ?
(A) TAEH % R o
(B) AT Al ATet At
(C) g&Teh Twrehedl

(D) & AT T THR

‘Beating about the bush’ ¥ 3T ATead € ?
(A) wtear & e

(B) fordl ot ToTehrae e

(C) TE W W & S

(D) TN 3T

[(0.5/)% %

(A) 0.0625 (B) 0.125
(C) 0.0125 (D) 0.625
T Fma Y

(A) wEFigs (B) Sfesw
(C) U (D) wRZA

LAN T g1 &7 &

(A) et TET A
(B) ST URAT Heds
(C) st uRan Are
(D) e TRAT Hea

P-5



60.

61.

62.

63.

64.

65.

P-5

In certain code, “RAGHAVAN” is
written as “GARVAHNA”. In that code
which  word will be written as
MATHAVNA ?

(A) TAMVAHNA
(B) TAMVAHAN
(C) TAMHAVNA
(D) MATVAHNA

Cherrapunjee is situated in the State of
(A) Karnataka

(B) Meghalaya

(C) Kerala

(D) Manipur

The highlighted phrase in the given
sentence means ‘The host team bore
the palm in league matches’

(A) Played quite well

(B) Was victorious

(C) Was defeated

(D) Played a very boring match

Choose the correct spelling
(A) Etiquete (B) Etiquette
(C) Ettiquette (D) Ettiquete

A housewife deposits ¥ 10,000
annually for a period of 5 years at a
simple interest rate of 8%. Calculate the
interest

(A) <400

(C) 8,000

(B) %5,000
(D) 4,000

In a certain code language “FAVOUR”
is written as “ECURTV”. How will
“FOSTER?” be written in that code ?

(A) GQTWFV (B) EQRWDV
(C) QEWRVD (D) EQRVDV
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T Hs H  “RAGHAVAN” @i
“GARVAHNA” feT@l STa1 & | 39 g §
i a1 7 MATHAVNA forar o 2

(A) TAMVAHNA
(B) TAMVAHAN
(C) TAMHAVNA
(D) MATVAHNA

ST T T | e € 2
(A) FHAEH
(B) wael™
(C) &
(D) wfoTE

TG 91 | 3ifoha it “The host team
bore the palm in league matches” =t

T 3T & 2

(A) T T Gl

(B) fow T

(C) TN

(D) ! TR BT QT T

TEl a1 TaT B
(A) Etiquete
(C) Ettiquette

(B) Etiquette
(D) Ettiquete

T Tfevil 8% TS AT l W W 5 a9 &
few T 10,000/- =nfieh ST YAl & | =T
I O Y

(A) 400 (B) 5,000
(C) 8,000 (D) 4,000
fedt % 9 #  “FAVOUR” &t

“ECURTV” fof@r STar € | 39 &2 H
“FOSTER” 4 forar st ?

(A) GQTWFV  (B) EQRWDV
(C) QEWRVD (D) EQRVDV
O



66.

67.

68.

69.

Given are two statements followed by
two conclusions numbered | and II.
You have to take the two given
statements to be true even if they seem
to be at variance with commonly
known facts and then decide which of
the given conclusions logically follows
from the two given statements,
disregarding commonly known facts.

Statements

1. Some mangoes are yellow.
2. Some tixo are mangoes.
Conclusions

l. Some mangoes are green.
Il. Tixois ayellow.

Give answer.

(A) Conclusion I follows
(B) Conclusion Il follows
(C) Neither I nor Il follows
(D) Both I and Il follow

Complete the sentence :

Everyone was greatly amused ..............
her ignorance of simple facts of life.

(A) by (B) on
(C) at (D) with

In the following series, fill in the blank
by looking at the given pattern :

BCB, DED, FGF, HIH,
(A) JKJ (B) HJH
() W (D) JHJ

Choose the word which best expresses
the meaning of INEXPLICABLE

(A) Confusing
(B) Unaccountable
(C) Chaotic

(D) Unconnected
14
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T U % a5 I e 1T | Rr e E
3! U T ST Ml Bl Wl AT §
T & 3T 1 a2l ¥ o i o & 3fie
g Jg g T T ¥ e 9
fTpY S7 AT I dliehsh ®9 § WA ©
AR T ST AT 1 BIEd gU |

Y

1. I AHAAE |
2. Fo e ammE |
ey :

. FOAAEE
I, feomidiens |
WS

(A) F=F8 | g |
(B) T Il gl & |
(C) FITTENAANE |
(D) 1a Il I A & |

AR T FIT

Everyone was greatly amused ..............
her ignorance of simple facts of life.

(A) by (B) on

(C) at (D) with
fr=ifeRd *f@en  f5U MU 9e @i d@d gu
AT T W

BCB, DED, FGF, HIH, _

(A) JKJ (B) HJIH

(C) Wi (D) JHJ

39 I T T KL ST INEXPLICABLE
IS 3T Y e HIT &l

(A)
(B) Unaccountable

(C) Chaotic
(D) Unconnected

Confusing
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70.

71.

72.

73.

74.

75.
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Choose the correct meaning of
proverb/idiom : A man of straw

(A) A man of no substance
(B) A very active person
(C) Anunreasonable person
(D) Farmer

Choose one word to substitute the
sentence : Extreme old age when a man
behaves like a fool.

(A) Imbecility

(B) Senility

(C) Dotage

(D) Superannuation

Complete the sentence ‘many a girl
the movie’ using suitable
alternative from the choices given.

(A) have seen

(B) has seen

(C) aregoing to see
(D) see

Read the following and answer the
questions given below (Q. No. 73 to
75) :

The selling price of a saree = basic
price + sales tax @ 25% + family
welfare cess @10% of sales tax.

What is the selling price if the basic
price is ¥ 6000 ?
(A) 9650
(C) 6500

(B) 7650
(D) 8100

What is the selling price if there is a
discount of ¥ 1000 on the basic price ?

(A) 6375 (B) 6500
(C) 6275 (D) 6750

What is the selling price of the saree if
there is no sales tax and no discount on

the basic price of ¥ 6,000 ?
(A) 6000 (B) 6600
(C) 6750 (D) 7100
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71.

72.

73.

74.

75.
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T FHETId/AHITHT B Fel 37 T
A man of straw

(A) A man of no substance

(B) A very active person

(C) An unreasonable person
(D) Farmer

T A & WH W T IS A

Extreme old age when a man behaves
like a fool.

(A) Imbecility

(B) Senility

(C) Dotage

(D) Superannuation

SUga foed T =ET Heh aTd IR
< :many agirl ___ the movie’

(A)
(B)
©
(D)

f=ifRa ot Ug o A9 U T e % ST
T(@E 73/ 75):

Tk TTET 1 fashd god = Tet iFd + fasht
T @ 25% + IRER FHeAmwr T ot
T @10%.

have seen

has seen

are going to see
see

Iig o1 d T 6000 & af fasel goa =
B ?

(A) 9650 (B) 7650

(C) 6500 (D) 8100

3% g1 HEd W T 1000 & D & dr o
ST T B 2

(A) 6375 (B) 6500

(C) 6275 (D) 6750

I goT HEd 3 6,000 T HiE Tkt FH T
g 3R ST T 7 g, O TSl FH Ik g
Topa =TT 2
(A) 6000
(C) 6750

(B) 6600
(D) 7100
o
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